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Inverse Function

If fand g are functions such that
* (fog)(x) = x for all x in the domain of g
* (g°f)(x) = x for all x in the domain of /'

then f'and g are inverses of each other. (.(,.Q, 'v and a- "Wo"

This is written f - (x) = g(x) and g'l (x) = f(x). La df\ a-l»km,-)
[ g )

Rad "£ inverse of x"

hole: +h, | is NOT an expevsnd.

To have an inverse, a function must be one-to-one, that is for each
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Finding an Inverse Function
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Ex 1: For f{x), find the inverse function, f(x).
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Graphical Properties of Inverse Functions

Assume f'and g are inverse functions.

* The domain of f'is the range of g and the domain of g is the range of /.
* f(a) = bif and only if g(b) = a.
* (a,b) is on the graph of fif and only if (b,a) is on the graph of g.

* fand g are symmetric about the line y = x. on .F&). Y" ( a’b)
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Ex 2: Sketch the inverse, f~, of fon the same axes. State the domain and
range of each. - .‘s«v\
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Ex 3: Show that these two functions are inverses in two ways. 4"9’ \
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Ex 4: Find the inverse of f(x)=x—_3. ‘yf- %3
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